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Speed

L R O \

Average speed Is the total
distance traveled by an
object divided by the
time taken to travel that
distance.

Instantaneous speed Is
an object's speed at a
given instant of time.

\

|

-
-
-
=
=
e
-
-
-
=
-
-
-
-
b
-
R
-
-
. -
-
.
-
= 2
o
-




\

Acceleration

Acceleration of an object is the rate of change of its
velocity and is a vector quantity. For straight-line motion,
average acceleration is the rate of change of speed:
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. change In speed Vi — Vi
Acceleration = J P a— |

time interval
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Acceleration

3 Types of Acceleartion
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Distance, Time and
Acceleration

.h' g i'. \ i.l \ h '.I

(Vl h VZ) (20mph h 6Omph)
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= 40

mph
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d=vVagt  30pon 2 = 60
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Newton's Law of Gravity

Gmm,
RZ

147N 0.0588N
«ﬂ A "fﬂ

Ty | T
SRR 00km  12,800km 640,000km

Gravitational force=F =

G =6.67 x 101
Nem/kg?
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Newton's Law of Gravity
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 How can we determine the
mass of the earth using an
apple?

— This illustrates the way
scientists can use indirect
methods to perform
seemingly “impossible
tasks”
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Newton's Law of Gravity

"l

 How can we determine the mass of the
earth using an apple?
— This illustrates the way scientists can use

Indirect methods to perform seemingly
“Impossible tasks”

\ il \ .i' \ |1 III i, ll \

Gravitational force on apple = F = (GmMj = mg

R2

\ .I \ .il \ ‘1 II, )

M ( gR? j ~(9.8m/s%)(6.4x10°m)?

= 6x10*K
G 6.67 <10 N -m*/kg* :
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